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FANTASY NATURALE
Necklace

Approximate Measurements: see schematic

Materials:

Fantasy Naturale: 1-100G skein, color 9991, Pink, Yellow, Blue
Multi

Gauge: 17 sts=4” in st st on size 8 needles,

15 sts=4” in garter stitch on size 8 needles.

Needles: Size 8 knitting needles

Cast on 23 sts.

Row 1 (RS): Knit one row.

Row 2 (WS): k1, *yo, k2tog; rep from * across.

Knit one row.

Row 3 (RS): k3, (yo, k2tog)4x, yo, k1, yo, (ssk, yo)4x, k3. (25 sts)
Row 4: k11, p3, k11.

Row 5: k3, (yo, k2tog)4x, yo, k3, yo, (ssk, yo)4x, k3. (27 sts)
Row 6: k11, p5, k11.

Row 7: k3, (yo, k2tog)4x, yo, k5, yo, (ssk, yo)4x, k3. (29 sts)
Row 8: k11, p7, k11.

Row 9: k3, (yo, k2tog)4x, yo, k7, yo, (ssk, yo)4x, k3. (31 sts)
Row 10: k11, p9, k11.

Row 11: k3, (yo, k2tog)4x, yo, k9, yo, (ssk, yo)4x, k3. (33 sts)
Row 12: k11, p11, k11. All measurements are after blocking
Row 13: k3, (yo, k2tog)4x, yo, k11, yo, (ssk, yo)4x, k3. (35 sts)

Row 14: k11, p13, k11.

Row 15: k3, k2tog, (yo, k2tog)3x, yo, k13, yo, (ssk, yo)3x, ssk, k3.

Row 16: k35.

Row 17: k2, k2tog, (yo, k2tog)3x, k15, (ssk, yo)3x, ssk, k2. (33 sts)

Bind off all sts in knit on next row.

Ties: with 3 strands of yarn held together, each approximately 32” long, 4.25"
fold all strands in half and loop through the corner of the necklace along

the cast on edge.

(You will have 6 strands of yarn, since the 3 strands were doubled.) Braid

these strands together to form a 12” long braid. Tie a knot and cut strands. 8" at widest
Repeat this tie for the other corner of the cast on edge.

Weave in all ends. Block the necklace to measurements, pinning the center

front point out to exaggerate it. 5" at neck
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ABBREVIATIONS: dec = decrease, inc = increase, k = knit, pm= place marker, P2sso= SI2, p1, psso over purl st. psso = pass slip
stitch over, p = purl, RS= right side, sl = slip, SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through
the back loop, st(s) = stitch(es), st st = stockinette st, tbl = through back loop, tog = together, WS = Wrong Side, yo = yarn over,
wyif = with yarn in front, wyib = with yarn in back.



